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1
Introduction
This contribution discusses alignment between RAN1 and RAN2 upon the HS-SCCH orders for activation and deactivation of DRX and DTX operation transmitted from the secondary serving HS-DSCH cell.
2
Discussion
Dynamic carrier management and interaction with CPC features are discussed sufficiently and the following agreement is achieved in RAN2#63 meeting:

Agreement: DRX status and scope of orders is common to both carriers, and can be sent on either carrier
In order to introduce the above agreement, the TS [1] has included the following statement in RAN2:

…

18
Dual Cell HSDPA Operation (FDD only)

When the UE is configured into Dual Cell operation,

· the DRX status and activation and deactivation of the DRX with HS-SCCH is common to both serving and secondary serving HS-DSCH cells, and the related HS-SCCH signaling can be sent on either serving or secondary serving HS-DSCH cell.

…

According to the above statement of the TS[1], it was agreed in RAN2 that HS-SCCH order for activation and deactivation of DTX and DRX operation can be transmitted from either serving or secondary serving HS-DSCH cell.
But in RAN1, TS [2] includes the following statement:

4.6C.2.2.1
Orders for activation and deactivation of DTX, DRX and HS-SCCH-less operation and for HS-DSCH serving cell change

If the order is transmitted from the serving HS-DSCH cell, for this Order type, xord,1, xord,2, xord,3 is comprised of:

-
DRX activation (1 bit):






xord,1 = xdrx,1

-
DTX activation (1 bit):






xord,2 = xdtx,1

-
HS-SCCH-less operation activation (1 bit):
xord,3 = xhs-scch-less,1

If xdrx,1= ‘0’, then the HS-SCCH order is a DRX De-activation order.

If xdrx,1= ‘1’, then the HS-SCCH order is a DRX Activation order.

If xdtx,1= ‘0’, then the HS-SCCH order is a DTX De-activation order.

If xdtx,1= ‘1’, then the HS-SCCH order is a DTX Activation order.

If xhs-scch-less,1= ‘0’, then the HS-SCCH order is a HS-SCCH-less operation De-activation order.

If xhs-scch-less,1= ‘1’, then the HS-SCCH order is a HS-SCCH-less operation Activation order. 

If the order is transmitted from a non-serving cell and xord,1, xord,2, xord,3 = ‘000’, then it is an HS-DSCH serving cell change order .
…
According to the above statement of the TS[2], the Order type and order mapping of the HS-SCCH order for activation and deactivation of DTX and DRX operation transmitted from the secondary serving HS-DSCH cell are not specified, that is to say that it is not in line with the corresponding statement in RAN2.
3
Conclusions
It is proposed to modify the statement about HS-SCCH orders for activation and deactivation of DTX and DRX operation transmitted from the secondary serving HS-DSCH cell transmitted from the secondary serving HS-DSCH cell in RAN1 to align with the corresponding statement in RAN2, as proposed in [3]. 
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